
Đáp án bài 2 trang 52 sgk Toán 5 tiết Luyện tập 

HỌC TẬP - LỚP 5  - TOÁN LỚP 5 

Bài 2 Luyện tập : Tính bằng cách thuận tiện nhất: 

a) 4,68 + 6,03 + 3,97; 

b) 6,9 + 8,4 + 3,1 + 0,2; 

c) 3,49 + 5,7 + 1,51; 

d) 4,2 + 3,5 + 4,5 + 6,8. 

Đáp án 

a) 4,68 + 6,03 + 3,97 

= 4,68 + (6,03 + 3,97) 

= 4,68 + 10 

= 14,68 

b) 6,9 + 8,4 + 3,1 + 0,2 

= (6,9 + 3,1) +( 8,4+ 0,2) 

= 10 + 8,6 

= 18,6 

c) 3,49 + 5,7 + 1,51 

= (3,49 + 1,51) + 5,7 

= 5 + 5,7 

= 10,7 

d) 4,2 + 3,5 + 4,5 + 6,8 

= (4,2 + 6,8) + (3,5 + 4,5) 

= 11 + 8 

= 19 
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